
,Paper/SubjectCode:88941/Microcontroller&Applications.',

Time: 3 Hours

Question no. I is compulsory

Attempt any Three questions from remaining

Assume suitable data wherever necessary

t
o

o

Ql a) Explain Program Status word Register of 805,t'Mioro [eru,: .'' ,"
b) Explain any five Addressing modes of 8051 with one €xprnple in each

c) Write short notes on CPSR of ARMT
d) Differentiate between ARM and THU\4S State: 

.

. ., 
j 

,

Q2 a) Explain Internal RAM Organizationiqf S,05i'Miafqpoukollbl
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rrlDer/ subJect uode: U/U.y41/ uomputer Lommuntcatlon 1\eNvorK, .

TE, SErn \Z[ I G',:,c I choiu ba'se I rc^ *U 2olcl

(3 Hours) [Total Marks:r80]

: (l) Question No. I is comPulsorY'
(2) Solve any three questions from the remaining five
-(3) Figures to the right indicate full marks.

(4) Assume suitable data if necessary and mention the same in answer sheet.

Attempt any 4questions
a) Compare circuit switching and packet switching'
b)[1ustratebytecountframingmethodinDaa,linkLay'er'
c)Explainthetoo1stoachieveErrorcontro1inTCP.
Oi ffow the medium access with Collision avoidance (MACA)rprotocol works

in wireless LAN?
e).Describe Border Gateway protocol (BGP) as a

protocol?

inter-domai, noVtlng

t20l

u0l

[10]

[0]

[10]

[10]

a) Explain Link state Routing protocol with the help of building of Link state

packets and distribution of link state packets.

b) 
-Explain 

HDLC frame fonnat. Describe configrrration and response modes

supported by HDLC protocol.

a) Draw TCP header and explain the meaning of various fields associated with

it.
b) What are the different types of CSMA protocols? Explain I -persistant

CSMA protocol.

a) The following is a dump 
"J:^qPl$"dgl,r |.ludecirnal 

format'

c884000D001c001c
(i) What is the source Port number?
(ii) What is the destination port number?

(iii) What is the total length of the user datagram?

(iv) ' What is Jho lengthofJhe'data? r'

(v) Is the packet directed frorn a client to a server or vice versa?

b) Explain Go backN protocol'with suitable diagram.

a) Explain the function of Repeater, hub, bridge, routers and switches in

detail3.and mentiorr. in w.hich lfiyer they work.
b) A company is granted the site address 181 .56.0.0 (class B). The company

needs il 000 subnets-:Design the stlbnets'

c) A bit qtream 100tlOm 11100010 00100100 10000100 is transmitted to the
-feceiver. 

Apply checksurn:error detection schbme and check whether data

will be accepted at receiver or not?

Short notes on: (Atternpt any four)
a) IPv4 datagram
b) Point to Point Protocol (PPP)

- c) Digital Subscriber Line (DSL)
, d) OSI Model

e) Adaptive tree rvalk P._r:::l* 
_ * r,,( * * r,r r r ;r
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t0sl

[20]
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I e*ng l rD.-.=6*k-*)" u 1 r49 t "loo**um 
Marks {s}

;. encsrisoNo, r iscornpulsory g$C]Dlnfr3nua (-R^l- o SOg*7 * ,)

faper i SubJect Uooe: uuy4j / Antenna 6r r(auro wave rropagatrurr

A@ryt my 3 qur*tiucr* srt qf remeianrrg 5.

. A$seuts $*iSIE dma if nsse$$sry.

F.}*pres ts *e dght t*disate the lsexlrrsitn marks.

reson*nt lplf-wavelength dipol* &ntennq witl.r input impedance.of 73 nhms, is

to a trsnlslxlio$ion ti!!e ruhasp shfirss{eristic impedence is 50 o},lrns. Assunning

tfuo p*.tern ef tbe rtnttrrna is gircn apprexirna*ely by U:Bo${n}0, fiad &c r+rnxir,nuun

gni*l ofthis eltenna.

selient features of Microstrip aa&ffre

e*rreat distribution *nd radiaiion p*taro of 0.IL 0.5 l, t artd 3 I sirnple dips*e 6$sffiIe.

is gr,etury @e in b#$i& M md*fire eney &*orme hsw it ca* he r*itlimi$ ia botft,
\

i.s ttre signifiour,leeofbeawry*idth of,antenna? If I"lPtsW of d,ir,ertiorml efl&tts* in SSeHe

H.plarrc is 3S srd 4S r.rspwtivdy, calcr*late direetiv*ty *md gain of tha ssr,ne ailiteass-

mdi*tioa e&iemoy *5'5%)

ne*t sk*ch explein par*boi'ic re$ector entenRa. List hed mee!&riism used.

ve orpeessi*.rs of radi#icn rEsistalrce sf half wavelength dipole antsnna. Why, actual

of half wavelcngth dipotr antsr,t$a is ligs betwa*n 0,47?' to 0.48l. instead of 0.5 L

rmt diagrarn derive ir.npoltar,rt pErarneters of hellsel entorma in exial mode" What is

eftet of eh€ng$ ifi lsrl1gtl* find circu*&,,enao ef tho $slr*e srt $tNs rsdietisn Ss&sfrp?

iapaftern raulti.p{:icution of may antonna, if two isotropic poilrt sources of array are U4. J.U

sfert E$d if ttrry f,ed witl,r oryral *r'n:plitude and r/2 ptm*e, dmw radi*tion psttern cf,

ffi!€"

l&.etment binorni*tr array with a spacing of )n kfiryocn fie elomsum. Psf,eflltine 10

10

t0

dlstributierr $f altr ekrflflttc; alns ealoula*e &o hcl,f'pr*,rtr&osrmvi&h {in dCIWW}

the maxirnunr diraetivity (i* dfi).

rscfangu.k microstrip antsafia fur ?.4 {iHe frequency application using Rogers

5880 subs*rate with tllickness of 1.6 mrn.

I,be forrn*ion of ioaiced layer in the ionosphere and describe their irnpr:rtance.in

o eo*amunication. Defir,rc critical frequency.

notes on (any forr)

measurements.

wave propqgation.

(Sas*$tlg) furay.
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rapefl DuoJecr Looe: udy44 / rmage rrocessmg and i\lLachrne vision,l,s,, 
- ,

Se-rrt-VLf LkarSe bqe.ol- I ,u
3 Hrs

1. Ql is compulsory
2. Solve any 3 from remaining
3. Assume suitable data if necessary

1 Answer the following

2. For given figure, Improve and redudb.:ihe'sh?tia,l,resoltrtign, totrqffi.lfloi$Hq"liine,
B = Black line, Size of each white and black line is 0.1 mm, total lepgth is 1 mm. 4M

$'f,mm
j$,=")L

w B wio ..w., B
-:, 

:!:

'v :.,,.8,: 
.

'.,W".
B','."1\.r.^

+----------------,-., --.J.*i*.-::;;ri::.i:til111:-;-,;-:l-;li-.-.;;,;;*-*;.+i;-)

0.1mm

l€--tl

3.

4.
5.

4M
4M
4M

usiiigr freouerluy cloarein'fi ltering

histogram

;'rt0' ', 8,:'" 9

:10 $2,:. ..1'2 t4

"1$.''
10 9

.M, L2 10 t2

: 2. :Explam l) Sharyening using 2nd order derivative 2) Unsharp masking and high boost
' :filtering 8M
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Draw PDF andwrite equation for following noise models

a) Gaussian Noise b) Rayleigh noise I i . '-
Find the chain code, shape ,r,r*b.t fot girtn image using 8-csnnectivity' {Jse anti-

ilockwise direction. (Arrow shows starting po-int)

respectively

0,$x11IilIIt$
$xiIltItrlts
0llllIltllCI
I1[1S]]lxlI
nlnltllx[[]
$llItIttlls
0In'" llItxfi
0000tlIt1s&s
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faper i suDJect Looe:

Ex T c-) Se"'n

66y{J / MeCtfV€ - lr lrrg,rtar v Lor l'EDrEtu " .. , "

!T Clnol ce Bcrs'.A CD LoL) 
' '

(3 Hours)

1) Question No. 1 is comPulsorY'

(2) Solve any three from remaining five questions'

:.' ":i
Drawcarrycircuitfor3.bitCLAadderusingMoS.'.. . ). ;.,,.._

a)

b)

c)

d)

e)

a)

b)

c)

i 'i ' 
r'i'r'1;04':i:

Draw D flip flop and write HDL program forit r' i' ' ' 
0a

Explain clock distribution scheme 04.

:,^-
ImplementfulladdercircuitusingcMOs 

' ,..: '::' '''i.".'S-'

mpilment Y - AB'T[+DD usingfdllowfedesigls'tvlT )'' -' ' -''. r10

s ); oynauti" 'bMoS' S) Ctoekea nfoslczuos) 4)Fseud6

a)

b)

NMOS

4-BIT ripple carry adder using Full adder and Write flor it using 10

HLSM, 1O

a)

b)

Explain SRAM and its.operation with proper diagram

Ora* 4x4 bit NORbased RQM array to store th-e'following data in respective

10

10

memory,locations

,lt. ' , Iilernory Address' Data

1000 0111

0I00' 0101

0010 0110

0001 r001

{<{.**rl. d( * * * * * * {< d< {< rt * *t* *

10

using Lambda 10
d) Design R'TL for Serial FIR filter' Draw HLSM'-D.atapath and 

ISY
Sii.&"urgmet*-t'el d J-K,lat9h,ri3ing cMos and draw layout for it

,t",-"',,-"' , ,

.,: ',: i

l"(a) ESD Protection

(b) Clock Generation
''(g) Interconnect delaY model

(d) Flash Memory

05

05

0i
05
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PaPer / SuDtecr LouG: oo'{rt ' nrw'r'

.r"" l^ L cjno\ce- Ras€d

Time: 3 Hrs

(1) Question no 1 is comPulsorY :' 
'

iii ir,"*nt any 3 question out ol lemailinu :ir ' ' 
'r 
I 

'

Ei*t*ot.. to the right indicate full marks'

(3) Assume suitabte data whertt""'"tttsary and indiiate the same'

Compare CW Radar with FrequencV{3dulated'Radar' 'r''' I I' 
"

Explain Frequencv, Giil ""a 
ol"it;11v Technique'

ffii;i; rr.!i yfl'f{e'ns puls" rep-etition'frequencv' 
\.,

n*Ptuln radar range equatlon' 'i

Explain Doppler Filter banks liong yith its merils and derneri'ts :'

what do you *.Jffi rffi;;;;;i s..,i"rr s,.ftaiu ncs of SPhere,

'Delay Line Canceller 'along with its frequency

dar and discuss them in detail'

'' 
[1' land and Sqa Cluttgl '-'^^

Discuss in brief Rada'r Resolution'Cel

with the r,"rp orilffi;'#;idim explain Coniqal Scanntng

Draw and explain Tr'avelling Wave Tube Amplifier used in Radar

. '..t"'[gffi,p**;o*oftsh no*" ']Transmitter 
along with

their aPPlications

{101
i10l

[101

[10j

[101
[101

[101

t10l

[10]

[10]

Lor- o c) ;-

Total Marls: 80

' . {5"1 '";:,. ;':

, [5i.' '

LSt
.,[51. ,

Q3
a

b

Q4
a

b

Qs
a

Explain methods of I"TP:1::ion of Radar Pulses to imnrove;11

, :X,r.';,ilJil$:##.:#t3;1iilr'*;#;ffi 
How does it arrect

. Radat Equation h block in detail'

6," ,. Draw ulocrolli'aeram orvtu Radar and.explain eac 
i
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Paper / SubJect Uode: EA94'l I

I rxr c-) $e-nn E.

(Time:3 Hours)

(1) Question No. 1 is comPulsory.

izi Sof"" any three from remaining five questions'

lllectNe - tt Uatabase Vlanagement Sysrcm,:'.,t'','l ' i ,

c-hoice- Rqse=d LD:u-"boq,1',

'TotalMarks:r80
.-- ,.1 !.

the following questionS '.
(a) Draw the Database Architecture and explain i1!ri3!
iti gxptain the Database recovery management in brie( - " ;.''ir:..-'.''(b) Explam tne lJaIaoase rtruuvsry ur'arr4Beurv"u "' "'"lY.i,$,, ,{:_;*':.;,..i";:.r' ,ri;'.11,;,",,.;l:;.

(c) Describe trigger with an example. {i .;i .,1 
t' ,;, ,.i ,.i . , 

*,.g.i, i ,., 
l1i

ial Wnut are thi different types of data models? ,,::' ;"r' "; ,;'' ' '" ' ' . 
i

a) Construct an ER diagram for school

associated with each student with a

relational schema for the ER design

(b) What is deadlock? How to detect and prevent this''

,t"". ' l

with the;ets:of students and a set ofquaehers'

log of various examinations"con{ucttid write a
I (10)

(10)

(a) Explain lNF, 2NF, 3NF and nCJ$E.w!t!.a suitlll,e.;elample? ' r;:'-i: ':' ;

(b) Explain following types of au{6-gt lyit! an exlrlPlb: ' '' ': '''''' :' ' "''-.,

iii) Composite iv) Derived

(a) Shop has the followingrgl{gns, r" " ':r r.r ' :. ' :' , . ' r: "'

Inventoryl;"iff;il;;64uei,".pr si,f ..,,':..,,'':",,u .'.1"1"'.1,*":

Is membei{'code:"ID; tlate eifjoilring) .;:: 'r ,' .. ' .

i;.il (qcc;ii;n nurnbor, Seriat num$Ml,.ue:'v,,Siae, price)

pu."frdS gO .,byt (rceessi on nurnber, serial id, datq of ,purchase)

^"il 
iir, ,ri *;iit.[i"pii-+n*;A6'e$ry.rir'"March j0.19]and'details orthe Furchaser

ii) Find the O.tuliifi'tJ ind eustom*lp,rr"t ua*i who Purchased iterns above Rs' 15000
--/ ' if size above 10 inch'iii) Give the details g-f,unsold itels e

iv).,List tne neqrlnt pnibrruier*lcor*o'** 
t 
who hpr. purchased at least one item on every visit.

.'.. ".,. l .- ' , .. ... ..;. '. 'r:,.1.'

&), ,EXpiain tne foUowine tuilti^1t1, tlil^?b of relational algebra:
-. , ,: I).Set intersectisp 

--"'r , Z)'set dif.fei.no. 3) natural joint'

probrlem?

,FrFt{.t** *{< * {<***{'{'*{':l"l'*:f {"'*

: (10)

(10)

(10)

an example.

(10)

(10)
(10)

(s)
(5)
(s)
(s)
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